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Obstacles to Educational Research and Ways to Overcome 
Them in Egypt 

Abstract : 

 The present study aimed to identify The obstacles that facing 
educational research in Egypt as There are many obstacles and difficulties in the 
educational research, and limit the performance of its expected role, and 
hampered the production of good research, and this study has tried to identify 
these obstacles and propose appropriate solutions to solve them. These 
obstacles were presented in three parts: The first concerns the climate 
surrounding the research, both in terms of material aspects and the budget 
allocated for research And the lack of availability of educational research 
requirements, and the freedom of research and intellectual . The second is what 
concerns the educational researcher itself, such as the lack of primary and 
secondary resources and references on the problem or issue that is the subject 
of the researcher's research, with the difficulty of obtaining a lot of data and 
information that officials consider confidential, and other obstacles related to 
the family environment of the researcher, Researchers, by keeping their research 
on the shelves of libraries, and not to apply the results they reach through this 
research on the ground, The third of which is related to educational research, 
including the distancing of educational research from the practical work and its 
lack of promotion, with the lack of cooperation of some groups of society with 
the researcher, and the heavy teaching and administrative burdens of faculty 
members, and the difficulty and length of the process of publishing research, The 
framework of educational research, and has been submitted several proposals to 
address each of these obstacles, Including the need to provide material and 
moral support for the researcher, and to monitor the financial budgets necessary 
for educational research.  
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